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QUESTION 1

What are two performance advantages that solid-state drives have over hard disk drives? (Choose two.) 

A. consistent transfer time 

B. no rotational latency 

C. I/O start time 

D. no seek time 

Correct Answer: BD 

 

QUESTION 2

Which two technologies enable business continuity during a site failure? (Choose two.) 

A. StorageGRID 

B. Snapshot copies 

C. MetroCluster 

D. SnapLock 

Correct Answer: BC 

 

QUESTION 3

What are two benefits of implementing NetApp Cloud Sync? (Choose two.) 

A. to leverage native SnapMirror technology to retain storage efficiencies 

B. to consolidate storage management into one administrative tool 

C. to automate data migration processes, on-premises or to the cloud 

D. to provide a secure data synchronization service 

Correct Answer: CD 

 

QUESTION 4

What are two reasons to enable high availability? (Choose two.) 

A. performance management 

B. fault tolerance 
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C. nondisruptive operation 

D. load balancing 

Correct Answer: BC 

 

QUESTION 5

Which tool do you use to administer a NetApp Kubernetes Service cluster manager? 

A. kubect1 

B. kubeadm 

C. clustershell 

D. helm 

Correct Answer: D 
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